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INFOSYS

Infosys Technologies Ltd. provides consulting and IT services to clients globally as partners to conceptualize and realize technology-driven business transformation initiatives. 

With over 46,000 employees worldwide, Infosys use a low-risk Global Delivery Model (GDM) to accelerate schedules with a high degree of time and cost predictability.

The company works with large global corporations and new generation technology organizations to build new products or services and to implement prudent business and technology strategies in today's dynamic digital environment 

Infosys has sound fundamentals, a proven history, robust infrastructure and is lead by a team of visionary executives. The company has widely recognized management practices and is well known for being committed to the highest standards of corporate governance and information transparency 

1. 

Corporate slogan/

Punch line

Powered by intellect and driven by values.

2.

Vision

To be a globally respected corporation that provides 

best-of-breed business solutions leveraging technology

delivered by best-in-class people.
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Mission 
To achieve objectives in an environment of fairness, honesty, and courtesy towards clients, employees, vendors andsociety at large.
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Values

C-Life : Customer Delight, Leadership by Example, Integrity and Transparency, Fairness &Pursuit of Excellence
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Locations

Corporate headquarters: Bangalore 

US headquarters: Fremont, CA 

Worldwide offices :Atlanta, Bangalore, Beijing, Bellevue, Berkeley Heights, Bhubaneswar, Brussels, Charlotte, Chennai, Detroit, Frankfurt, Fremont, Hong Kong, Hyderabad, Lake Forest, Lisle, London, Mangalore, Mauritius, Melbourne, Milano, Mohali, Mumbai, Mysore, New Delhi, Paris, Phoenix, Plano, Pune, Quincy, Reston, Shanghai, Sharjah, Stockholm, Stuttgart, Sydney, Thiruvananthapuram, Tokyo, Toronto, Utrecht, Zurich. 
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Main officers

Chairman of the Board and Chief Mentor: N R Narayana Murthy

Managing Director, President and CEO:Nandan M Nilekani
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No. of employees

46196
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Key milestones

Year of Incorporation: 1981

Became a public limited company in India : 1992

ISO 9001/TickIT Certification: 1993

Listed on NASDAQ: 1999

Attained SEI-CMM Level 5:1999

Crossed $ billion in revenues: 2004
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Stock exchange listings:

USA :NASDAQ (INFY)

India : National Stock Exchange (INFY.NS), Mumbai Stock Exchange (INFY.BO) & Bangalore Stock Exchange
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Financial Performance Indicators

(ending 31st March 2005)

US GAAP

Revenues: $ 1592 million

Net Income after taxes : $419 million

Earnings per ADS : $1.57(diluted)

Total assets : $ 1454 million

Indian GAAP

Total Income :Rs. 6859 crore

Net profit after taxes: Rs. 1859 crore 

Earning per share (Rs. 5): Rs. 69.26 (diluted)

Total assets: Rs. 5241 crore

11

Services

Outsourced Application and Infrastructure Services 
Custom Application Development, Application Maintenance, Application Re-engineering, Infrastructure Management, Independent Testing and Validation 
Enterprise Services 
Packaged Applications, Supply Chain Management (SCM), Customer Relationship Management (CRM), Enterprise Application Integration (EAI), Enterprise Resource Planning (ERP), Business Intelligence and Data Warehousing. 
Systems Integration, Strategic Technology and Architecture, Consulting Enterprise, Content Management, Identity Management Migration and Re-hosting, Enterprise Information Portal Enterprise Mobility, Business continuity and Platform Services. 
Product R & D Services 
Product Design and Development, Product Sustenance, Testing and Automation, Offshore Product Development Center , Additional Product Services, Product Consulting & Professional Services 
Consulting Services 
Corporate Performance Management, Balance Scorecard 
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Products

Finacle, the universal modular banking solution empowers banks to transform their businesses leveraging agile new generation technologies. 
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Industries

Aerospace and Defense, Automotive, Banking and Capital Markets, Communication Services, Discrete Manufacturing, Energy, Healthcare, High Technology, Insurance, Life Sciences, Media and Entertainment, Retail & Consumer Packaged Goods, Transportation Services & Utilities.
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Major clients

Cisco systems, Lucent Technologies, Nortel Networks, Airbus, Boeing, Schlumberger
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BPO

Progeonoffers solutions to global clients by leveraging process,domain and people management expertise. Risk for clients is managed through a scalable, cost-effective and predictable delivery platform. 
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Careers

Looks out for highly motivated, enthusiastic, talented, learnable self-driven individuals who are ambitious, love challenges and have a passion to excel. 

Infosys participates in campus selection programs and also conducts a number of off-campus initiatives throughout the year at various locations. Infosys also hires experienced professionals from the industry to various mid-level and senior positions

Challenging and exciting client engagements and an organizational culture that emphasizes learning drives every Infoscion to excel in their individual capacities and as a team player.
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Organizational culture

The spirit of innovation, continuous personal and professional development and excellence is most evident in how the company builds and manages physical, technology, or people infrastructure or in financial, marketing, and quality practices. 

Initiatives such as the Infosys Leadership Institute are meant for ongoing management development and personal improvement. A host of technology advancement and other ongoing training programs meet the different learning needs of employees in specific areas of technology, management, leadership, cultural and communication skills, and other soft skills.
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Life at Infosys

Employees can pursue their interests in areas as varied as arts, culture, or sports. Apart from, "Art Gallery " dedicated to displaying the works of Infoscions; there are daily quiz competitions and regular music meetings that keep the place abuzz with creativity. 
Inculcom hosts cultural programs for Infoscions. Inculcom has sub groups like the IQ Circle (Quizzes), Shruthi (the classical music club), Dramatix (the drama club), and Vakchaturya (forum for self development).

InSync , an internal communication program focusses on keeping the Infoscion abreast of latest corporate and business developments.

Toastmasters Club provides a mutually supportive and positive learning environment to develop communication and leadership skills.
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Awards

Business 2.0, the leading business trends and technologies magazine, has ranked Infosys at No. 8 on its prestigious B2 100 list of the world’s fastest growing technology companies

Wired Magazine has ranked Infosys Technologies at No. 9 on its ‘Wired 40’ list for 2005.

Infosys has won “India ’s Best Managed Company Award” based on a study conducted by Business Today and A.T. Kearney. Infosys was placed ahead of 13 finalists. 
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Other information

The Global Delivery Model, pioneered by Infosys refers to the philosophy of breaking pieces of work into logical components, and distributing these components geo-locationally for the best global talent to utilize them for maximum value and innovation.

Infosys Foundation, the philanthropic arm of Infosys Technologies Ltd was formed in 1996 with the objective of fulfilling the social responsibility of the company by supporting the underprivileged. 

The Infrastructure Management Services (IMS) practice works with an objective to manage and deliver IT services to mission critical IT infrastructure of Fortune 500 companies.

The Independent Validation solutions (IVS) practice aims at providing Software Validation Services to clients to deliver reliable, high performance & user friendly applications to their customers on time and in a cost effective manner.

Catalytic IT is the Infosys approach to create a flexible IT environment that acts as a catalyst to make clients’ business competitive. This is an evolutionary and self-funding IT transformation journey. It brings together Infosys’ IP assets, solutions and service offerings enabling you to unlock the business value of your technology investments 
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Contact address

HRD – Recruitment
Infosys Technologies 
No. 44, Electronics City
Bangalore - 560 100
Fax: +91 80 2852 0851
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Website

www.infosys.com
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Email

careersquery@infosys.com 




INFOSYS PATTERN
.

Test Method:-
The test Paper consists of 2 sections:

1 Quantitative test:  Duration:   30 Questions40 minutes
It had 6 questions had 5 internal questions (6*5=30)
· Puzzles-2,
· Data Interpretation

· Data Sufficiency

· Non verbal

· Syllogism.
2 VERBAL TEST:   Duration:   40 questions in 30mins. 

· Two big passages are given. Fives marks for each passages
· Correction of phrases in sentences                                

· Two articles are given.
·  Fill in the Blanks

·  3 or 4 lines paragraphs are given and corresponding conclusion for that paragraphs should be selected from the given options.

· A sentence is given by using different prepositions we have to select the right one.

· Rest 5 r different types.
Technical + HR Interview:

                  In the Technical cum HR Interview, It will be very cool, First of all We have to be very cool, please be cheerful through out the Interview. The HR may ask you the questions like:

· Tell me about yourself.

· Family Background.

· Project Details

· Achievements.

· Hobbies.

· Paper Presentations.

· Simple Puzzles.

One thing we have to remember that the HR will see the Spontaneity in you and she/ He will observes your face feelings and the way of your attitude towards the Questions. In some cases you may face stress Interview, there, just test the Patience only.
  Be cool and give clear and brief responses to the HR, the chances of getting JOB in Infosys is more and more once you clear the written test.

ALL THE BEST

INFOSYS PAPER -1
 In the Test there are questions totally aptitude 30 questions 45 minutes time. Next round English it has 40 questions 30 minutes. In the aptitude
1. Running race problem

2. Non-verbal analogies

3. Data suffiency

4. Bar charts
5. Dresses, colors and fruits problem

6. Syllogism

English Paper:  It is little tough just be thorough with the Grammar.
INTERVIEW EXPERIENCES:
          In my panel two experienced women was there
HR
: ya! anand take your seat.
ME
:  thank you madam.
HR
: Give your resume.
ME
: I gave my Résumé, they asked about my hometown [Cuddalore]
HR
: Tell me some interesting features about Cuddalore
ME
: I told some interesting places in cuddalore,
HR
: Tell me about your college life
ME
:I told them, what was the role I did in my college
HR
: They asked about my hostel life?
ME
: I told them about my “best outgoing hostel student award” [because I mentioned in my resume]
HR
: one of my interviewer said that she never saw such an award like mentioned above.
ME
:Then puzzle
	X
X
X

X
X
X

X
X
X


HR
: Consider all x as wolf and there was a fence .You should draw one square and one rectangle so that each wolf should be in one box.
ME
:  I tried to some extend, but can’t.
HR
: what is your area of interest?
ME
: data communication and networking
HR
: what is the current security system we using?
ME
: I told about cryptography
HR
: what is the latest technology using in mobile communication?
ME
: I told ‘CDMA’ and 3g networks
HR
: you organized any symposium?
ME
: I told my college symposium ‘trendz05’
HR
: you attended previous any interviews?
ME
: I told satyam attended
HR
: u cleared group discussion?
ME
: yes
HR
: which topic they gave?
ME
: dress coat should be banned or not
HR
: nice we will discuss.
ME 
: we discussed lot.
HR
: they asked “your opinion”
ME 
: I explained my ideas and views
HR
: why you are choosing software? Why you are not choosing
             Electronics jobs? (because I am ECE stream)
ME
: I told” I am having logical and analytical ability and time management”
I explained all things
HR
: ok, anand you have any questions?
ME
: what is my career growth in your company?
HR
: it is fully based on your performance. ok thank u anand.
I was waiting outside for 15 minutes. They told go and attend
Second round
There only one person is there. I entered in to the room.
HR
: please take your seat.
ME
: I told thank you
HR
: anand what is your hobbies
ME
: playing cricket, listening music
HR
: you talk half minute about cricket
ME
: I explained.
HR
: why nowadays India loosing the matches give some reason?
ME
: I told some reasons. he satisfied.
HR
: what is your strength?
ME
: I told quick learner
HR
: Give one small incident about quick learner
ME
: I explained my college incident
HR
: What you know about infosys?
ME
: already I know company profile so I explained very well.
HR
: why should I hire you?
ME
: I am having analytical ability and logical skills; I am a quick learner,
Whatever giving assignment I will do my best and effective role in a team sir
HR
: ok anand we will contact your mail within 4 weeks.
ME
:thank you, sir
INFOSYS PAPER-2

1) There was a question like      they are 2 races 100m race n 200 meter race the participants are P,Q,R,S,T,U,V  some conditions like(I don’t remember exact conditions of P,Q....but they are like this)

P is better than T in 100 mts race n less than some U in 200 mts race

R neither occupies lat position nor the first position

S is better than some U in 200 mts and less than T in 100 mts race

P have 4 members above it in 100 mts race and 4 members below it in 200 mts race  according to this data some questions are given

a) How many are there below Q in 100 mts race?(options are given some 6,5,4,none of these)         Ans 6

b) How many are there below Q in 200 mts race?(options are given 6,5,3,none of these)

c) How many members have same position in both 100 mts n 200mt race?    Ans S,R

d) Which occupies first position in 200 mts race?(data not sufficient)

e) Which occupies last position in some 100 mts or 200mt race?

2) This a odd one out question it also contains 5 questions each question has some 5 figures in which 4 are related and 1 is different

they gave some figures like direction figures it is clock wise direction a am linear line with some direction like that(they are confusing but easy)

3) There are 6  members seated round a conference table A,B,C,D,E,F they wear different color t shirts of white, black, blue, yellow,  red, green and they have ordered for pastries, burgers, sandwich, patters, vineala, pizzas, some drink  all in same order and some conditions are given

persons in white and black does not eat pizzas pastries, patters and some other condition i don’t remember it but conditions are like this

A is neither in white t-shirt nor is not on immediate left who ordered for burger

the person between E and F has ordered for sandwich and is not to the person wearing white T-shirt

D has ordered for burger and the man opposite to him has ordered for sandwich

The person who ordered for burger wears green t-shirt and is not to the ridgt of some one like this and some 5 questions are give.

This question takes time but will get the answer

4) a) A)all docks are socks

B) All rocks are socks

C) Some docks are socks

D) Some rocks are socks

E) All rocks are docks         like this conditions are given and 3 combination options are given asked for which is correct

Like                         a) ABD b) ACB c) AEB d) ABE

5 questions are given in this group its easy choose the answers by looking at the options

5) Some graph is given and some condition and some questions

English was same(30 minutes)

2 comprehensive passages

Correction of sentences

It was easy but prepare for it too takes time

I was selected for the interview...out of 791 they select some 158 for interview

There are 2 rounds in the interview some of them are said to leave after first round and some have both the rounds

First round is HR only(i was asked by a lady n man above some 40-45 and they are cool)

1) They gave some topic and asked to choose me 1 topic and speak abt it

Joining the organization for money or improving skills?

Importance of marriage
Musharruf the bluff master

some Kiran singh

and one more

I have selected the first one

2) They asked about my self family background

3) They asked me to read some thing aloud which is a question abt our project ......explain our project to a 5th standard student

4) He gave me 2 puzzles(i explained them but was not correct)

5) Do u have any questions

I was selected for the second round also(she was also kool)

she asked what they have asked me in the first round......i told her...... did u answer the puzzles she asked i said no......she asked me one question like there are a car cycle truck, auto which combination of two will u use to make a aero plane I said some thing and she asked y......i answered jus confidentely I don’t know whether it is right or wrong she asked do u have any questions I asked some questions

INFOSYS PAPER-3 

Aptitude test had 2 papers:
1. Maths – 30 ques in 45 mins .(1 mark each)

2. Verbal ability – 40 ques in 30 mins (1 mark each)

(Ques No. 1-5)  
There was a question on logical reasoning, they had given some conditions on 6 books and page numbers. 6 books r kept one above the other in some manner .the books were Sanskrit , Physics, Chemistry, Biology, Economics, English and the pages of books were 205,405,296,317,276,378 not in same order .From some conditions I was able to derive following diagram :

Subjects
page number

Chemistry

Physics

Sanskrit

Biology

Economics

English

I don’t exactly remember the pages of all books.
From 1st 5 questions, 4 were asked on order of books .The 5th ques was as follows:
5. if the book binder by his fault binds the book cover of 1st book from bottom to the pages of the 4th  book from bottom , book cover of 2nd from bottom to pages of 5th from bottom ,and so on . then what will be the total pages of book with biology color cover now ?

The question was very simple.
(Ques No. 6-10) There were 5 ques based on finding the odd figure out of 5 given figure having relation between them.(simple ones)

(Ques No. 11-15) There were 5 ques based on Data sufficiency. (easy ones)

(Ques No. 16-20) 5 ques on Data Interpretation. (very difficult  ones)

(Ques No. 21-25) 5 ques on Logical reasoning .The 5 ques were based on some conditions given .the conditions were based on family tree.(difficult)

(Ques No. 26-30) 5 ques on sequence on statements given to fit in a proper logical relation. 4 options were given with 6 statements and choose one which is giving a proper sequence. (Very easy)

Verbal ability was pretty simple.
It had 2 comprehension passages and both were equally simple. And some questions based on fill in the blanks, 2 meanings of given word ,selection of  one option which gives the central idea about the given statements , replacing the underlined sentence with the given appropriate options without changing its actual meaning as in original statement .

THERE WERE NO PUZZLES FROM SHAKUNTALA DEVI  IN WRITTEN TEST .

In interviews, there were 2 rounds for each candidate and both were HR based (with some technical for candidates having little BAD LUCK ) .Else the interviewers were good and friendly. Here , some were asked puzzles from shakuntala devi.
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The aptitude test consisted of 2 sections:

1) Analytical thinking/logical reasoning –30Q( 45min)

2) English - 40Q(30 min).
Analytical thinking/logical reasoning:

Ques(1-5):      (based on arrangements) There are 5 books of English, biology ,chemistry, physics, Sanskrit, economics. The order in which they are arranged with respect to the other and the page numbers  are given. and then 5 question followed each having 4 options each.

Ques (6-10):     (visual reasoning)4 out of the given 5 figures  are similar in certain way. Find the one which is odd.

Ques(11-15):         (Data sufficiency)Each question is followed by two statement,1 and 2.answer each question using the following instructions:

Choose 1 if the queston can be answered by using one of the statement alone ,but cannot be answered using the other statement  alone.

Choose 2 if the question can be answered by using either of the statement alone.

Choose 3 if the question can be answered by using both of the statements together  ,but cannot be answered using either of the statement aone.

Choose 4 if the question cannot be answered even by using both the statements together.

Ques(16-20)        (Data interpretation)some statistics of population .the mortality rate, the birthrate etc.

Ques(21-25)        (based on family tree).some relations given. and then followed by 5 questions each having 4 options.

Quest (26-30) ( verbal reasoning)Choose the set of three statement that make a logical sequence from the given four.
Ex:          a) the universe is confusing.

               b) The stars and the sky are universal .

               c) Life is a part of the universe.

               d) Life is confusing.

                       1]cad     2]cab  3] bcd  4] cba.

English:

1) There were 2 comprehension passages.

2) Fill in the blanks with the appropriate words.

English section was pretty tough since all options were quite close and lot many questions were asked.

Interview:

I had 2 rounds of interview .first panel consisted of 3 people. It was a hour interview, no technical questions asked. . Tell me something abt yourself. Hobbies. Why u want 2 get into software? What are your personal goals in life? About the project. Extra curricular activities.

They just want to find out whether u are a team player, a team leader. your learn ability, Your communication skills. I was not asked any puzzle.

I have tried to give u an idea of how the new pattern is. I want 2 reiterate what I said earlier, just remember its not difficult just one needs 2 change ones mindset or else have a flexible one. Don’t expect only puzzles. Just be ready 2 face whatever u get and then u would be able to crack it.

INFOSYS PAPER-5
There were two tests

1. LR 45 mins. and this time I feel it was simple than puzzles.. 1 DI was also there, 1 graphical question was there...

2. ENGLISH test : it was good 30mins & 30 questions, starting with 2  long RC,, VOCAB, GRAMMER,,

INTERVIEW EXPERIENCES:
And it was great exp. to hr Interview at INFOSYS,,

There were two persons...

M1,,   M2,,,

M1:: tell us abt yourself

I:: simply ans

M2:: have u gone through with us ever

I: no

M1:: asked about, if I have appeared 4 any other recently

M2:: asked abt my project..

I:: I told only project names it is minor & major project names

M1:: asked only single q related to my major project,,

M2:: asked abt my minor project in detail

M2:: asked abt MOSFET (as i was from E&C)  & TIMER 555 IC that i hv used in project

M2:: what is purpose of your project??

M2:: Few more questions related to my minor project(DIGITAL S.WATCH)

M1:: do you have any questions..??

I :: May I know abt GDM Model that u prefer..

M1: You will know after u selected during training..

I: thank you sir

INFOSYS PLACEMENT PAPER -6
Exercise 1:

The passage given below is followed by questions based on its content. Read the passage & choose the best answer 4 the questions

The Death Car

It was cold night in September. The rain was drumming on the car roof as George & Marie Winston drove through the empty country roads towards the house of their friends, the Harrison’s, where they were going to attend a party to celebrate the engagement of the Harrison’s daughter, Lisa. As they drove, they listened to the local radio station, which was playing classical music. They were about 5 miles from the destination when the music on the radio was interrupted by a news announcement: “The Cheshire police have issued a serious warning after a man escaped from Colford Mental Hospital earlier this evening. The man, John Downey, is murderer who killed 6 people before he was captured 2 years ago. He is described as large, very strong & extremely dangerous. People in the Cheshire area are warned to keep their doors & windows locked, & to call the police immediately if they se anyone acting strangely.” Marie shivered, “A crazy killer. And he’s out there somewhere. That’s scary.” Don’t worry about it,” said her husband. “We’re nearly there now. Anyway, we have more important things to worry about. This car is losing power for some reason—it must be that old problem with the carburetor, If it gets any worse, we’ll have to stay at the Harrison’s’ tonight & get it fixed before we travel back tomorrow,” As he spoke, the car began to slow down, George pressed the accelerator, but the engine only coughed. Finally they rolled to a halt, as the engine died completely, Just as they stopped, George pulled the car off the road, & it came to rest under a large tree. “Blast!” said George angrily. “Now we’ll have to walk in the rain.” “But that’ll take us an hour at least,” said Marie. “And I have my high-held shoes & my nice clothes on. They’ll be ruined!” “Well, you’ll have to wait while I run to the nearest house & call the Harissons. Someone can come out & picks us up,” said George. “But George! Have you forgotten what the radio said? There’s a homicidal maniac out there! You can’t leave me alone here!” “You’ll have to hide in the back of the car. Lock all the doors & lie on the floor in the back, under this blanket. No-one will see you, when I come back, I’ll knock 3 times on the door. Then you can get up & open it. Don’t open it unless you here 3 knocks.” George opened the door & slipped out into the rain. He quickly disappeared into the blackness. Marie quickly locked the doors & settled down under the blanket in the back for a long wait. She was frightened & worried, but she was a strong-minded woman. She had not been waiting long, however, when she heard a strange scratching noise. It seemed to be coming from the roof of the car. Marie was terrified. She listened, holding her breath. Then she heard 3 slow knocks, one after the other, also on the roof of the car. Was it her husband? Should she open the door? Then she heard another knock, and another. This was not her husband. It was somebody--or something--else. She was shaking with fear. But she forced herself to lie still. The knocking continued-- bump, bump, bump, bump many hours later, as the sun rose, she was still lying there. She had not slept for a moment. The knocking had never stopped, all night long. She did not know what to do. Where was George? Why had he not come for her?

Suddenly, she heard the sound of 3 or 4 vehicles, racing quickly down the road. All of them pulled up around her, their tires screeching on the road. At last! Some one had come! Marie sat up quickly & looked out the window.

The 3 vehicles were all police cars, & 2 still had their lights flashing. Several policemen leap out. One of them rushed towards the car as Marie opened the door. He took her by the hand.

“Get out of the car & walk with me to the police vehicle. Miss you’re safe now. Look straight ahead. Keep looking at police car.  Don’t look back. Just don’t look back.”

Something in the way he spoke filled Marie with cold horror. She could not help herself. After 10 yards from the police car, she stopped, turned & looked back at the empty vehicle.

George was hanging from the tree above the car, a rope tied around his neck. As the wind blew his body back & forth, his feet were bumping gently on the roof of the car-- bump, bump, bump, bump

1) What was the reason for the news announcement on the radio?

a) 6 people. Including John Downey, had been murdered?

b) A dangerous prisoner had escaped

c) The police were warning of accidents on the roads in the bad weather

d) Some people had bens en acting strangely in the Cheshire area

2) What did George think was causing trouble with the car?

a) The carburetor

b) The rain drumming on the roof

c) The accelerator

d) He had no idea

3) Why did he pull the car off the road?

a) To have a rest

b) To go for a walk

c) To walk to the nearest house

d) It broke down

4) Why did Marie stay in the car when George left?

a) She was afraid to go out in the dark

b) So no one could steel the car

c) Her clothes weren’t suitable for the rain

d) She wanted to get some sleep

5) Where did George set off to walk?

a) The mental hospital

b) The nearest house

c) The Harrison’s house

d) The police station

6) What made Marie so frightened as she waited in the car?

a) There was a strange sound coming from the roof

b) She could see a man strangely outside the car

c) Some police cars came racing down the road

d) She was afraid of the rain and the dark

Exercise 2:

Each sentence below has 1 or 2 blanks – each blank indicating that something has been omitted. Beneath the sentence are some words. Choose the word for each blank that best fits the meaning of the sentence as a whole

7) Athletes have so perfected their techniques in track and field events that the _________ becomes _________ before record books

a) Announcement …………public

b) Meet…………………….official

c) Time…………………….authentic

d) Fantastic………………...common place

8) A________ child, she was soon bored in class; she already knew more mathematics than her junior school teachers

a) Obdurate

b) Precocious

c) Recalcitrant

d) Contemporary

9)  The subtle shades of meaning, & still subtler echoes of association, make language an instrument which scarcely anything short of genius can wield with ____________ & ________________

a) Confidence----------aloofness

b) Definiteness---------certainty

c) Sincerity--------------hope

d) Eloquence------------ruthlessness

10) Unwilling to admit that they had been in error, the researchers tried to_______ tried case with more data obtained from dubious sources

a) Ascertain

b) Buttress

c) Refute

d) Dispute

11) His one vice was gluttony & so it is not surprising that as he aged he became increasingly_______________

a) Despondent

b) Corpulent

c) Carping

d) Lithe

Exercise 3:

Please read all the questions in the table below (12-21) as one continuous passage. Tick the verb with right tense or the correct word to fill in the gaps in each of the sentences.

	Statement
	Options

	12) A famous singer had been contracted to sign at a Paris opera house & ticket sales_______________ booming.
	a) is

b) are

c) were

d) have been

	13) In fact, the night of the concert, the house was packed; every ticket ________________
	a) is selling

b) was selling

c) sold

d) had been sold


	14) The feeling of anticipation & excitement was in the air as the house manager__________ the stage & said, “Ladies & gentlemen, thank you for your enthusiastic support!
	a) took

b) takes

c) had taken

d) was taking

	15) I am afraid that due to illness, the man whom you’ve all come to hear________________ performing tonight
	a) will not be

b) has not been

c) had not been

d) was not

	16) However, we _________ a suitable substitute who, we hope, will provide you with comparable entertainment.”
	a) are finding

b) were finding

c) had found

d) have found

	17) The crowd____________ in disappointment & failed to hear the announcer mention the stand-in’s name
	a) groans

b) groaned

c) had groaned

d) were groaning



	18) The environment turned from excitement to frustration

The stand-in performer__________ the performance everything he had.
	a) will give

b) had given

c) gave

d) gives

	19) When he had finished, there was nothing but an uncomfortable silence. No one _____________
	a) Applauded

b) Applauds

c) Was applauding

d) Has applauded

	20) Suddenly, from the balcony, a little boy stood up and____________, “Daddy, I think you’re wonderful!”
	a)shouts

b) was shouting

c) had shouted

d) shouted

	21) The crowd_________________ into thunderous applause
	a) breaks

b) broke

c) had broken

d) was breaking


Exercise 4:

From each group of sentences given below, indicate the sentence that contains the error:

22) Group 1

a) Driving long distances causes sleepiness, & sleepiness causes serious accidents.

b) On a table at the rear of the room was a notebook, a pair of scissors, & a biology textbook

c) Finally, there seems to be a growing interest in vegetarianism in this country

d) Either the local chief of police or his officers are guilty of violating the rights of prisoners

23) Group 2
a) Simple cookbooks for inexperienced cooks have become quite popular in recent years they are available at many bookstores

b) Some cookbooks, such as The Joy of cooking, have been classics for generations

c) One popular cookbook is The Art of French Cooking, by Julia Child, a colorful character who charmed television audiences for many years

d) The Art of French Cooking blends classic recipes with meticulous explanation; ordinary cooks find the recipes manageable

24) Group 3

a) Around 50% of the forest are destroyed every year

b) The bus leaves tomorrow morning

c) A tiger is a dangerous animal

d) Can you please the sugar?

25) Group 4

a) There must be some mistake. I should have scored more marks

b) The number of trainees are hundred

c) 50% of the houses need repairs

d) The Commissioner, along with his family members was seen the party

26) Group 5
a) The scissors is very sharp

b) Congratulations are in order

c) One of the cases is open

d) She plays tennis well but she’ll never be a Steffi Graf

Exercise 5:

Please mark the correct statement from the pairs given below:

27) Pair 1

a) Repeated occurrences cannot be ignored

b) Repeated occurrences cannot be ignored

28) Pair 2

a) We need to get a consensus on the decision

b) We need to get a consensus on the decision

29) Pair 3

a) Only authority personnel are allowed in this area

b) Only authorized personnel are allowed in this area

30) Pair 4

a) The actress decided to sue the sleazy tabloid for deformation of her character

b) The actress decided to sue the sleazy tabloid for defamation of her character

31) Pair 5

a) Everyone knows that Hogwarts in the Harry Potter series is a mythical school

b) Everyone knows that Hogwarts in the Harry Potter series is a legendary school

32) Pair 6

a) Most people think caffeine is not good for health

b) Most people think caffiene is not good for health

Exercise 6:

Select the best word/phrase/line to complete each sentence in the most appropriate manner

33) ‘Reema’s bad-mouthing Peter only because she is jealous of him.’ Means______________

a) Peter really is a nice person

b) Peter really is a mean person

c) Peter really is a difficult person

d) Peter really is a tough person

34) If some one is “gung ho”, they are_______

a) stupid

b) Childish

c) Enthusiastic

d) Loud

35)  Mr. Hughes has been asked to___________ this difficult project because of his experience working for many years in Iran

a) Undergo
b) Understand
c) Undervalue
d) Undertake
36) ‘Stop talking to those angry men, you are just adding fuel to the fire’ is the same as________

a) Stop talking to those angry men, you are just coming in the way

b) Stop talking to those angry men, you are just making it worse

c) Stop talking to those angry men, you are just adding to the noise

d) Stop talking to those angry men, you are just talking too much

37) ‘Sudhir’s work is behind schedule – I think he bit more than he could chew’ is the same as________

a) Sudhir has taken too much of work

b) Sudhir takes very long breaks

c) Sudhir does not know how to do the work

d) Sudhir is a lazy person

38) There are many__________ to our rules, and I do not think that’s fair.

a) Examples
b) Exceptions
c) Instances
d) Provisions
Exercise 7:

Choose the correct / most appropriate word/s to fill in the gap in the sentences given below.

39)  I didn’t set _________ to do this but I’m pleased with the result.

a) In
b) Out
c) On
d) Down
40) This looks too heavy,______________ pick it up?

a) Can I

b) May I

c) Need I

d) Would I

41)  I am glad so many people have passed the test. In fact, there were_________ who haven’t.

a) little

b) a little

c) few

d) a few

42) Pope John Paul II ___________ more than 90 countries.

a) Has visited

b) Was visited

c) Visits
d) Has been visiting

43)  I _____________ Carl since I ______________ a little child.

a) Have known, have been

b) Have known, was

c) knew, have been

d) Knew, was

44)  I wonder if _____________ will show up at the meeting?

a) Someone
b) Anyone
c) One
d) Everyone
45) Have you given up______________.

a) To smoke

b) Smoke
c) Some smoking

d) Smoking
INFOSYS PAPER-8
Exam Paper:  

 (1-5) Simple question on puzzle test

Six books are Sanskrit , Biology ,English ,Economics ,Physics, Chemistry and these books are having pages in no 405 ,387 , 502, 368, 417,320 but not in a order
1) Book which is second from bottom is chemistry and is having 417 pages

2) English is neither in top nor in the bottom

3) Economics is having 387 pages which is second from top

4) Book which is having 502 is fourth from the bottom

(6-10)
Questions on diagrams odd man out very just looking at them u will find easily the odd man

(11-15) question on family relations also from puzzles test in RS AGARWAL

A, B, C, D, E, F are members of a family there are two pairs in this six members

D is brother of  F
B is mother of D
C is lady and is neither heavy nor light in the family  
Grand father is heaviest in the family

Some questions are

1) Relation between  e and f

2) How many male members are there in the family

3) Find the option which is a pair from the following

4) What is the relation between c and d

(16-20)

Data interpretation question:        Population in year 92-93 is adults 54 lakhs, non adults 14 lakhs for every year 2% of non adult’s converts into adults

Birth rate %    non adult’s mortality %                 adults mortality %

93-94                       17                                                 7                                                                                           14

94-95                       19                                               6                                                                                            13

95-96                       18                                                           8                                                         12

1. Population at the end of the year 95-96 is

2. Population of adults in the year 94-95 is

3. Population percent increase in the year 93-94
 (21-25) Data Sufficiency

1 For saying x is a whole number

a) X^3+1=0

b) X^4-1=0

A) only one is sufficient               B) only two is sufficient 
C) Either of the one is enough      D) both are required 
 E) Both are not sufficient

2. In an election there are A,B,C participants find the individual votes of each other

a) A has got 1500 more than B
b) C has got half more than what a has got

similar to this very easy questions just verify the RS AGARWAL not more than 1/2 hr that is enough to answer this data sufficiency questions

(26-30)   Logical connectivity
I will give u an idea about this

A all rank students are awarded with a  prize

B. Gopal is hard working

C. Ramu has got the prize

D. Ramu got the first rank

E. Gopal is typical fellow

a) CDA b) ADB c)EDA ans is       a

IT HAS TWO FULL PAGE PASSAGES EACH HAS 5 QUESTIONS ON THEM

ONE PASSAGE IS ABOUT SHARKS AND THE OTHER IS ABOUT ANAESTHESIA AND DR. SIMPSONS ACHEIVEMENTS

I REMEMBER THE PASSAGE BUT ITS HARD TO TYPE IT I MSORRY

5 QUESTIONS ARE ON CORRECTION OF SENTENCES 5 QUESTIONS ARE ON INFERENCES ON THE GIVEN THREE LINE SENTENCE IT WILL TAKE TIME TO READ THE WHOLE QUESTION AND TO INFER  THAT ALL I REMEMBER IF UR FAST IN READING ENGLISH AND UNDERSTANDING THEN IT IS NOTHING MATTER FOR U TO CRACK THIS TEST

HOPE U GOT SOME IDEA OVER THE INFOSYS NEW PATTERN

INFOSYS PAPER-9
Reasoning test: 30 Q’s in 45 mins

All similar questions from Agarwal’s reasoning book. Can’t remember the exact questions. So giving u only types. All questions are very easy

Questions:  

 (1-4):   5 Books are arranged one by one. There page numbers are 205, 512, 316, and some clues r given. We have to answer 4 questions based on that paragraph.
(5): Data suffiency question.

Find the value of X?

a) X3+1                                         b) X4+1=0

Answer for this question is a, because we wil get imaginary values for second choice.

(6-10): Find the ODD figure out questions

6)    Answer is C, because it is moving in anti clock wise direction. All are moving clockwise directions in above figure

Like this another four easy questions came

Ques (11-15): A similar problem from agarwal reasoning. Just change Elder/younger are given instead of lighter/heavier in below question.

1.      A, B, C,D, E and F r 6members in a family in which there two married couples.

2.      D is brother of F Both D and F r lighter than B.

3.      C is a lady, is neither heaviest nor the lightest in the family.

4.      E is lighter than C.

5.      The grand father in the family is heaviest.
11) How is E related to F?

a) Grand mother     b) Brother       c) Father      d)Data inadequate   e)none of these     Answer is C
12) Which of the following is a pair of married couples?

a) AB      b) BC      c) AD      d) BE      e) None of these   Answer is D

13) How many males are there in the family?

a) 2     b) 3     c) 4     d)data inadequate    e)None of these       Answer is  D

14) Who is the second place, if all the family members weights are arranged in descending order?

a) A    b)C     c ) D       d ) Data inadequate     e)None of these   Answer is B
15) How is C related to D?

a) Grand mother    b)Cousin      c)Sister     d)Mother      e)None of these

Answer is A
Ques (16-20):   One data interpretation question

Ques (21-22):   Sum of all salaries of A, B and C are  6000. A is 1230 more than B and 1000 more than C.    Two questions based on this

The rest r based on blood relations and questions similar to puzzle test topic in Agarwaal’s reasoning book.

VERBAL TEST: 40 questions in 30mins. Little bit tough.

Questions (1-10): Two big passages are given. Fives marks for each passages.

Questions (11-16): Correction of phrases in sentences

3 or 4 lines will be given. In that a phrase wil be underlined. We answer the correct from the given choices.

Questions (16-17): Two articles are given.

Questions (18-23): Fill in the blanks

Questions (24-29): 3 or  4 lines paragraphs r given and corresponding conclusion for that paragraphs should b selected from the given options.

Ques(30-35):A sentence  r given by using different prepositions. We have to select the right one.
Rest 5 is different types.

It takes lot of time .B thorough in English. Every given choices differ with minute mistakes. Difficult to select choices.

INFOSYS PAPER ON 19th NOVEMBER   AT  HYDERABAD

1-5 Questions
 1) There is a wooden rectangular box of length ,breadth, height of 7cm,6,5  cms when it is divided into three parts and painted with red, violet and green color of l, b, h of 1cm*1*1cm
  1) how many are o faced?
     A)70   b)62   c) 76 d) none of these

  2) How many are 1 faced?

  3) How many are 2 faced?

 4) How many are 3 faced

  The question follows in that way
 
6-11 Figures Problem:
Try to solve as many as possible from verbal and non verbal reasoning (R.S.Agarwaal)

Here, you need to find the continuation fig from the given options .keep track of the time especially.

11-16
Data sufficiency
a)if 1&2 are required to answer
b)if either is insufficient
c)any of the statement is sufficient
d) either is required   (sorry folks I don’t remember the exact order,,...that really important)
 11)is X>y?
        a)when=(p-1)(p^2-p+1)  and y=(p-1)(p^2+p+1)
       b)IF X>=7
  
and rest of the questions follows in that way.

16-20         Data interpretation
 Time is not at all sufficient for this section to solve the listed questions
so better solve them at the last, Here two graphs are given   one is sales   and the other one is cost of a company for 3 products A,B,C I  can’t draw you ,but I will  explain you:
 1) What is  the profit of the company in 93-94 from product B?
   a) 77%  b) 32%  c) 44%   d) none of these
   
 ( I don’t remember the exact values ,but want to  tell you ,how the way is)

21-25 puzzle test solving
 
There are 6 persons named prasad ,etc 
1) They are staying in 6flats in a 3 Storeyed building
2) one person who is teacher doesn’t own a fridge
3)the person who is having three children owns a volts fridge
4)people who stay in top floor need to have 4 or more children
  and conditions goes like these.......
21) who is the teacher?
   a) Prasad b).........
22) who is having kelvinator fridge?

26-30    This section consists of logical reduction
  (also called Syllogism) u can get these questions from verbal and non verbal reasoning by R.S.Agarwal. Refer to that)
 

INFOSYS PAPER ON 19th NOVEMBER AT DELHI
Questions are:
1-5 Cuboids but typical cut in different type each having different color so it is very tuff

6-10

Figure reasoning basically strength to x figure which r rotating.

11-15 Data sufficiency 

Problems:  One Statement two conclusion find which is best

16-20

Data interpretation very tough     two different figure 1 cost 2 sales question related to it

25-30 just all people are girls,     all girls are boys just like this

21-25)    6 men living in flat, Find who is at 1 2 3 4 5 6flat different condition

Total no. of children English paper 2 paragraph very long 0ne

Fine world in place underlined

Find correct sentences

Use of tenses

Preposition
English is not so easy

INFOSYS TEST ON 19th NOVEMBER AT DELHI
First of all a very important thing to tell you that please leave studying puzzles, the pattern has been entirely changed Start your preparation with RS Agrawaal and try to complete it. I was not at all prepared for the changed pattern; even before half an hour of my exam i was mugging the puzzles.

Firstly we were given a form to fill in half an hour. Please fill it in proper handwriting, it count a lot. After filling the form we were given a blank sheet for rough work.. Mind it rough work is as imp as your answer sheet After seeing the paper I was shocked.. Then I started doing it with patience.. My friends HARDWORK counts a lot along with the blessing. I cleared the written exam

Paper Pattern:-
Questions 1-5 
A 5x6x7 cube is given with their boundaries painted with diff color. If the cube is divided into small cubes of dim 1x1x1 cm

1- How many cubes have red color painted side?

2- How many cubes have red and violet color painted sides?

3- No of cubes which are unpainted?

4- Cubes with three sides painted with yellow, violet and red?

5 Only one painted side of red color? (Just practice this ques by yourself consider any color in any side and solve it)

Q6-10 figure based ques from RS Agrawaal

Five figures were given and the sixth was asked some questions were on 
Data sufficiency :   5 questions were based on::

their are 6 persons M Tendulkar, Mr Sharma, Mr Dravid they live in a three floored building 2 in one floor some conditions were give
who stay in which floor?

From RS agrawal

5 Questions on Data Interpretation

2 Graphs were given one cost based and one sales based three companies are there A,B,C questions like which company gives profit, which is in loss

And like that….
English Paper:-
It was easy, I thing English Paper helped me to clear the written

2 easy RC were their, direct answers........it covered 10 questions
10 questions were on correct the sentences 10 ques were on english usage

5 ques were on synonyms no negative marking

INFOSYS INTERVIEW ON 21st NOVEMBER

INTERVIEW EXPERIENCE:
My  Interview: There were my self Sir and 1 Madam.

Me-sir may i come in

He- yes

She- so Aditya you are an Instrumentation engineer

Me- yes madam.

She- so why does u want to join IT?
Me- what ever I could remember at that moment I spoke

He- so Aditya do u read any magazines or novels?

Me- no sir iam an extrovert kind of a person so I don’t read often but I do read newspaper

She- ok, then tell me abt previous 2 weeks International News

Me- told it

He- ok Aditya tell me some thing about Shahshi Tharoor?

Me- for a moment!!!!!!!!! After that I remembered and told him

He- ok Aditya tell me some thing about United Nations

Me- again!!!!!!Told him all that I knew (and it was all wrong!!!)

He- laughed!!!!

She- ok Aditya tell me one criteria that’s important to u while choosing a company

Me- Madam me the culture of the company should be amicable

She- what does culture means to you?

Me- I didn’t expected this question so I said-madam it means the common language that the people have she- so does that matters to u as in infosys we have 80% people speaking south Indian so hw wil u cope up wit that?

Me- now I thought it was all over! But still I gave hr a creative answer-madam, if the people Iam working with doesn’t understand my ideas because of language difference so it wil b difficult for both of us and also madam the biggest advantage we Indians have is that we know at least 2 languages and English is one of them so i cn communicate with them in English also. She-good!!!!

2nd HR:-   1 sir was there;
He- Hello aditya tell me for how long u have been waiting?

Me- Sir for over 2 hrs.

He- ok so what u did in that time?

Me- Sir, I just talked to my friends and listen t their interview experience

He-k so aditya u got 80% in 10th and 68 in it is. so hw can I expect u to complete a work efficiently?

me-sir in that case i wil give my 120% and make sure that i get at least 95% out of it.

He-good!!!

He-k so do u have anything to ask?

me-yes sir in hw many days wil i b getting to know my result?

he-within 3 weeks

me-thank  you.
INFOSYS PAPER ON 19th NOVEMBER AT HYDERABAD


Questions:.1:   A cuboid of dimension 6*5*7cm is painted with red on  two opposite  faces,,,green  on other two opposite  faces n  see other  color on other two faces n finally its is cut into small cubes of 1*1*1 size........
a) Find how many 3faced small cubes with some color....
b)Two side painted cubes...
c)One side painted
d)No side painted
e)some other question, .....Iam just giving an Idea about the question.a bit tough

Q) 2 :   Find next picture from the series.....VISUAL LOGIC...5 diff sub question each of different series....
Q) 3 : DATA SUFFICIENCY. One question will be asked n below that two statements will be given u should answer whether the given question can be asked with only 1st statement or with only second statement or using both or can't b answered with neither of the question.

Q) 4 : DATA INTERPRETATION ,, Two line graphs are given comparing the sales n costs of three different products of a company n questions based on these graphs.

Q) 5 :   This a logical puzzles,,6diff people
 Sharma, Ajar, Johar, Prasad, Tendulkar, Dravid are living in 6diff flats of a 3-storyed apartment.....some 9conditions are given married,,unmaried,,no:of children, their profession and 5 diff questions are asked based on these like to find who stays in top floor,,no of children of some guys n their profession etc.....

Q) 6 : On LOGICAL DEDUCTION .....this one is the easy of all....like...All cats r dogs,, All dogs are pigs n find the conclusion....like this 5different ques r given...

So guys in LOGICAL mainly you have to b very quick since there is only 30min n most of them r time consuming....no negative marking so don't leave any question also u should workout all questions on rough sheet.......

VERBAL :
Simple section but u should b very quick also they give more importance to your verbal than your logical section....
30min 40que... two   very lengthy Reading Comprehensions about one n half page each,,,,, finally each passage having 5direct questions.....very time taking ....so practice to read newspaper fastly......
question on finding correct sentence,,,sentence completion etc very easy....tenses n preposition type....
I did grammatical question first n went to passages where i could complete only one....so manage your time well.


INFOSYS INTERVIEW  ON 12th DECEMBER AT DELHI

.
1. Question is asking like tell about yourself.

2.  Tell the condition of country for economic political and social reference.

3.  If you be the prime minister then what would you do for reform the condition of the country.

4. Some technical question (my branch is EE)

5. Some puzzles like ABCD +  D= ABCD(all are b/w 1 to 9)

6. ARRANGE SIX 8's it make 100.

7.  Prove   ABC =EFG (all are b/w 1 to 9)

8. Tell about your city KANPUR.

10. Tell about your role model.
11. If your role model is standing in front of you what is your first question.

12. Some more question i am not remember.

Then second round one person panel.

1. Tell how you spend the time b/w 1st & 2nd round interview.

2. Anything you want to tell about yourself.

3. Any question about infosys.

INFOSYS PAPER ON 10th DECEMBER AT HYDERABAD

Analytical section:
1. A girl has a phone which has digits from 1-9(none repeated) as number and it is divisible by 9.if the last no is removed it is divisible by 8 and if another no divisible by 7 and  so on.

i) What is the first number?

ans  3

ii) What could be the fifth no?

ans 5 (as there is no 0 it should b 5)

and 3 more questions of this type.

This is was the puzzle which i found in one of the previous infosys papers.

These questions where from RS agarwal non verbal reasoning.4 figures will be given and u will be asked to find out one of the missing figuers.Mind u this was the most tough part which i faced in the exam u need to have lot of practice to answer these questions.

These questions are from data sufficiency very easy to answer u just need to have grip on simple equations, ratios etc. one of these questions was also a puzzle from the previous papers.

is n.>p?

Stmt I n=n+....

Stmt II 1/n=m+n/p

Sorry i don’t remember the exact equations but they were of this type.


Can we find the age of ram?

Statement I if 4 years back he was twice the age of his sister

Data Interpretation questions

1. a bar graph was given with sales of some item in few years and a table was given which consisted of sales as percentage of production like 80% in 1990, 75% in 1991 etc.and then he gave a sentence which said that the production capacity  was 1500000 and by 1994 it was increased by 10% and 20% in the next year.

2. question from this section were asked as what is production in 1995, ratio of sales to production in some year to the other.this section was also a bit time consuming but was can be done.

1. Ashok , Bikku ,Chanda......,Pool babu...are six children of rajeshwari.every body were born in alternative year ,and on a different day of the week and no one was born on sunday. each child took a different subject of maths biology ,.......and ashok was born in 1990 and took biology as subject. and few conditions were given .this question might seem confusing but was very easy if u structured the given clues. 2 questions were asked directly from the clues.

This was the section which i solved in less than 3 min.

all pens are guns etc six statements were given and in options they asked which three out of six are in logical order, its better if we analaize the options.

Practice from RS Agarawal and don’t simply implement the rules in this questions u will not find answers answer them logically.

Friends, What I observed from the paper is that u will for sure have 5 questions of the type F,D,C,B. i.e. u can solve at least 15 out of these 20 questions. First five questions can be of any type like cubes, Venn diagrams etc. so we are not sure abt first five questions .questions of type E are also most probable so we know 70% of the questions in advance ,please concentrate on these known questions to get through the analytical section.

English Section:
A passage on operating systems and other on agriculture .leave the passages and try to attempt the remaining. like sentence corrections ,conclusion from a small paragraph etc. this section was the easiest. they attached the English answer sheet first so this section might b the first priority in selection.

INFOSYS PAPER ON 10th DECEMBER AT CHENNAI

First Question :   Some thing like ... Manju's Phone num is a 9 digit num .. all the digits added up together is divisible by 9.  From rite if the 9 digit is taken the remaining 8 digits is divisible by 8 and so on,, it goes up to 1.. there were five question.. Like what is the 4th num.. from left etc..

2nd question      it was test of reasoning ..

some pictures given . and question like wat  wil be the next picture.. .. five questions,., like tat..

3 rd question

Data sufficiency question

4th question

Bar graph and question on it

Sorry ppl i don remember the last two question.....

Only around 450 ppl wrote the test and 63 were short listed .. I too was short listed,,,

MY INTERVIEW:

There were two HR ppl who interviewed me..

They gave me three logical reasoning questions,, and one puzzle sort of thing  they asked about my paper presentation and my project.. and they also asked question wit respect to my attitude..

my interview lasted for 15min ..

i had only one round of interview.. few people .. Has two rounds in which there were asked technical questions also..

Interview Experience:

let me tell u about test paper ,

1) the first section is of LR ...

Q1-it was  a puzzle ....a simple one

some thing like   P Q R S T U V W 8 doctors works 8 days in weak in a charitable hospital from tue-sunday, Monday is a holiday ....and Saturday is a half day the timing for work is 9 to 1 in morning,1-2 is a lunch break and 2-6 in evening r works in 5 to 6 U from 9 to 10 like that T works just b fore lunch time and then there were questions on them

Q2-there were non verbal reasoning question ...figure probs , rather difficult to solve .........go for  RS AGRAWAL start frm question no. 500 ....then u will get a good command on them

Q3- Data sufficiency problems .........simplest section, can b done in 4 minutes               How far a is from b ?

                                                 1-a is 60 km from c

                                                    b is 30 km from  c

   Ans -both condition failed distance can b anything 90 or 30 there fore D

   Like that ,all are simple


Q4-Data interpretation .........very tough  i have never seen such a problem ......on bar graph there is a variable  like 'a'...'b' some conditions. are given .we have to find values of variables

Q5 was a puzzle ..............very simple


Q6 was syllogisms........but of 4 statements


the next section was on English ,40 question in 30 minutes


two [passages followed  by sentence correction , correct preposition , small passages 1 question on each  passage was simple dont attempt passage in beginning .........

INFOSYS PAPER
Q1 to5 : Question like P,Q,R,S,U,V,T,W were 8 doctors visit hospital in d timings  9 a.m. to 1 p.m and 2 p.m. to 6p.m..  1p.m.  To 2 p.m. was the lunch break.Monday is the holiday and Saturday was the half day so each will work for only half an hour. No one visit before  And after U.S will visit as the same order as P in the after noon. R will come immediately after lunch break followed by W. so q's like at

What time w visited?

How many between this and this ?

If the lunch break was reduced by 15 min ,and each one will also reduce accordingly then at what time U will arrive?

likewise 2 more Questions.
five Qs from Data interpretation so............... difficult that I tried to attempt at last and just guessed the answers One table was given have some of its values as a,b,c d likewise so we have find those values and then answer five more questions some rows having all values filled so get the relation ,% increase whatever and find out ans.

Series completion:   Two were very easy one I fill little bit difficult but had ans and  one more very difficult, so I watched the alternatives and cancelled which can be not the ans and anyhow got the answer. Just practice nonverbal series completion from R.S. Agarawal. It is enough for this at least.

Question for data suffiency is the data sufficient to answer? The most easy four statements were given (including statements and conclusions)    with the order A,B,C,Dand ask which of following is right sequence (means statements and conclusion ) FOUR  alternatives were given as ABC,ADE BCD ,None of these .It was easy but time consuming

Test is easy but manage the time .so do practice Nice pattern .

2nd was English test having two passages  with 10 q five given some sentences and asked for the meaning of underlined part some fill in blanks with right alternative

INFOSYS PAPER ON 17th DECEMBER

Duration of TEST is :
1/2 hr for filling the application,

LOGICAL - 45min 30Que ( 6 main que each hving 5 sub que)
English - 30min 40Que (  2  long  RC's - 10 Que,,Sentence completion, Finding correct sentence of two..)

I. Read the following information carefully and answer the questions that follow:

1. P,Q,R,S,T,U,V & W are 8 doctors are visiting a charitable hospital 1hr each day (from 9am-1pm  & from 2pm-6pm , 1pm-2pm is a lunch

Break) except holiday i.e. Monday.

2. Saturday they will visit only half an hour.

3. No one will visit the hospital before Q and after U

4. W will visit immediately after the lunch and is followed by R

5. Position of S will be same as  P in  after noon session.

1) At what time R will visit the hospital?
a) 2pm   b) 3pm c) 4pm d) 5pm

2)If they will start their earlier by 15mins , then what will be the time of P visiting to the hospital?
a) 4.00pm   b) 4.15pm c) 4.45pm d) 5pm

3), 4), & 5) sorry I don’t remember.

II. Choosing the missing figure in a series:(5 problems)

Ex:    1) Problem figures

	* #  0 $
	0 *  $ #
	?
	# $  * 0


Answer figures

	* #  0&
	0 *  $ #
	$0

# *
	# $   0&
	# $  * 0


1.      2.     3.      4.      5.

III. Data Sufficiency (5 problems): You have to decide if the information given in the statements is sufficient for answering the problem. Indicate your answer as:
a) I alone is sufficient to answer the question.
b) II alone is sufficient to answer the question.
c) Either I or II are sufficient to answer the question.
d) Both are not sufficient to answer the question.
e) Both are needed to answer the question

1) Is P height is less than 170cms?
a. if we add 5  P’s height become more than 170cms.
b. If we add 2 P’s height become less than 170cms.

2) who is shortest among P,Q,R & S?
P is taller than Q.
R & Q are shorter than S.
3), 4), & 5) sorry I don’t remember

IV. Data interpretation: In some water plant , to generate energy the water is replenished and drained , the time when replenished and drained is tabulated as follows. According to this ans the following ques..

	Day
	Water is replenished at 1am-10 am(in cms)
	Water is drained at 5pm-10pm(%)
	Water level at 11pm

In(cms)

	Mon
	a
	b
	c

	Tue
	d
	7
	329

	Wed
	15
	8
	340

	Thu
	16
	e
	350

	Fri
	10
	12
	f

	Sat
	25
	g
	339

	Sun
	h
	i
	351


1) What is the value of g?
a)12.1  b)12.4   c)12.9   d)13.4

2) What is the value of c?
a) 362  b) 350   c)355   d)352

3) What is the value of d?
a) 10 b)12  c)6   d)9

4) What is the value of b?
a) 8  b)9   c)10   d)4

5) What is the value of f?
a)            b)         c)        d)

V. Again  Logical puzzle type:

A,B,C,D & E are 5 friends.
1. C is taller than D but younger than A
2. A is elder than E & D but shorter than B


1) who is the Eldest?
a)  C          b)   A     c)      B d) E

2) Who is the shorter?
a)            b)         c)        d)

3) If its ascending order by their ages who is the middle?
a)            b)         c)        d)

4) According to their height how many persons r their in b/w B & E?
a)            b)         c)        d)

5) Who is younger than E ?
a)            b)         c)        d)

VI. In the following choose the answer, which would be the statement with conclusion. Like this 5 problems..

1)

A. Herbal cosmetics are in great demand.
B. Revlon & Well are in great demand.
C. Revlon in great demand.
D. Well in great demand.
E. Revlon & Well are herbal cosmetics.
1) ABC   2) AED  3) AEC   4) BAE  5) None of these.

2), 3), 4), & 5) sorry I don’t remember.
INFOSYS PAPER ON 17th DECEMBER AT MUMBAI

The Aptitude test of Infosys Consists Of 2 sections
1.) Puzzles - 30 questions - 45 mins

2.) English - 40 questions - 30 mins
       _______________________
       70 questions - 75 mins

We were lucky not to have the cube puzzle, but be prepared with it. Very Important. They always ask it.

So it comes up to 75 Questions - 75 mins
For Puzzles refer R. S. Aggarwal (Verbal and Non-Verbal Reasoning)
Puzzles
Q.) 1 - 5 Sequential Order Of Things (Puzzle)

Q.) 6 - 10 Choose The Missing Figure In The Series (Non Verbal Reasoning)

Q.) 11 - 15 Data Sufficiency

Q.) 16 - 20 Data Interpretation

Q.) 21 - 25 Comparision Type Question (Puzzle)

Q.) 25 - 30 Logical Reasoning (Syllogism)
English

Q.) 1 - 5 Reading Comprehension

Q.) 6 - 10 reading Comprehension

Q.) 11 - 15 Analogy

Q.) 16 - 20 Synonyms
Q.) 21 - 25 Anonyms

Q.) 26 - 30 Fill in the Blanks

Q.) 31 - 35 correct way to form a sentence

Q.) 35 - 40 Statement - Arguments, Assumptions, Conclusions, Inference

All the questions asked in the aptitude test are the solved examples from R. S. Aggarwal (Verbal and Non-Verbal Reasoning)
Go Through each and every chapter of it. Do not Leave any thing.
Important Chapters From R.S. Aggarwal (Verbal and Non Verbal Reasoning)
Section I - General Mental Ability

Chapter 4 - Coding Decoding
Chapter 5 - Blood Relations
Chapter  6 - Puzzle Test (Very Important)
Chapter  7 - Sequential Output Tracing
Chapter  8 - Direction sense Test
Chapter  9 - Logical Venn Diagrams
Chapter  10- Numbers, Ranking & Time Sequence Test
Chapter   11 - Arithmetical reasoning (Very Important)
Chapter   12 - Data Sufficiency (Very Important)

Section II - Logical reasoning

Chapter 1 - Logic (Syllogism) (Very Important)

Section III - Non Verbal Reasoning 
                   Chp 1 - Series (Very Important)
                   Chp 2 - Analogy
                   Chp 3 - Classification
                   Chp 5 - Mirror Images
                   Chp 6 - Water Images
                   Chp 14 - Cubes And Dices (Very Important)

H.R. Questions Asked are -
1. Go through Your RESUME very well. The very First thing they can ask is from it. It can be anything from Resume

2. What is your Objective?

3. Computer Proficiency

4.  Language Proficiency

5.  Your Interests / Hobbies

6.  What Skills do u Possess (Strengths) / Any Weakness in you

7.  What do u know abt infosys? Refer the above paragraph for it.

8.  Why do u want to join infosys

9.  Why should infosys select you?
10. Why did u choose IT SECTOR?
11. Tell me something abt yourself.

12. Tell me abt your family

13. What Projects have u worked in
14. What was your Part in the project?
15. What was the Biggest Difficulty faced in your project and how u tackled it and what did u learn from it

16. Given a chance to choose between any other company and Infosys which would you select and why

17. Who is the Publisher and Editor of Times of India

18. What is the Tag Line Of Infosys

19. Who is The CEO of Infosys?
20. Who is The Chairman of Infosys?
21. on 18th Dec, 2006 there was a Test Match between India and South Africa. It was the third day of the match. They asked me The Latest Score

22. What is the difference between normal cooking and cooking in a pressure cooker?
23. Explain the mechanism of cooling in AC and refrigerators

24. What are the Unusual uses of a bottle, water glass, pen, tie etc

25. Use the Number 4 sixteen times and make the total of 1000
26. There are 10 candles with you. Arrange them in such a way that it comprises of 5 lines and 4 candles in each line.

27. Any questions from your side.

Prepare well for your tests from R.S. Aggarwal (Verbal and Non-Verbal Reasoning), aptitude is easy, and H.R. is just a formality

INFOSYS PAPER ON 7th JANUARY AT DELHI

The English section was pretty simple...it had sentences with missing phrases....n also the basic sentence correction....it had two  200 words passages with 5 Q each on them! Also it had Qs asking us to choose the best grammatically correct sentence out of given options!

I had attempted 25-16 Qs out of 30, and was quite sure abt all of them! I fell short of time to b able to attempt remaining 3-4 Qs.....

The Aptitude section basically constituted of Arithmetic reasoning Qs and lots of Qs on analytical reasoning...that is guessing the figure which shud fall next in series! It had an Easy Qs on Family tree and Qs on finding out the most logically correct sequence of sentences out of 4-5 given sentences.....
M clearly able to recall the 1st Q....here goes....
There is a cube with dimension 15cm(each side, obviously) with opp sides painted with same colors....two sides are painted with red,two opp sides are painted with blue and the rest of the two painted with yellow!
the cube is cut into cubes with dimension 3 cm.....
1. How many cubes have single side painted?
2. How many have 2 side painted?
3. How many have 3 sides painted?
4. How many have 3 sides painted with diff colors?
5. How many have no side painted?


INFOSYS PAPER ON 7th JANUARY AT CHENNAI

Here is the Critical reasoning!
1)      Most of the series of question paper has the CUBE problem as first question. Never get pissed off, its always 3*3 ,4*4 ,5*5 rarely 10*10 cube given.   My question was this

A CUBE OF 15M IN LENGTH IS CUT INTO FEW SMALLER CUBES IN SUCH A WAY THAT THE CUBES ARE EQUALLY 3M IN SIDE, AND THE CUBE IS PAINTED GREEN, BLUE, YELLOW ON ALL THE PAIR OF OPPOSITE SIDES, 
ANSWER THE FOLLOWING QUESTIONS.

A)    How many cubes are no side painted?
B)     How many cubes 1 side painted?
C)    How many cubes 2 sides painted

D)    How many cubes 3 sides painted?
E)     How many cubes painted 3 sides with 3 different colors?
Solution: Please have ref to cubes and dices topic from verbal and non-verbal RS.Agarwal

Approach can be like this.. What ever the cube is given take it into layers. Top layer, bottom layer and the middle layer(s). Since this cube is 5*5 u have 3 middle layers. Draw down the cube immediately and use pencil, blue pen and black pen to isolate the 1 side painted, 2 side painted, 3 sides painted . This is how u can approach. Cube problem always consumes time. So my suggestion is to have it as a last option.


2)  This was picture oriented problems.

My question paper had missing fig identification. So picture problems can be of

(Continue the series

(Missing one (the third missing ll b asked)

(Odd one out

It took 5mins completely. U need to have concentration more and your observing needs to b fixed on to the paper. Clues are.. first check for the shapes, then direction, then fig in fig out combinations, addition of new fig will b little complicated don get screwed up. If there is a elimination of a part in the fig jus check out if there is addition of a new fig. this is the approach. You need to spend min 5 mins max of 10 mins. Never ignore the RS Agarwal pictures problems.

3) Data sufficiency.  RSAgarwal doesn’t help much in this section. so please go thro any cat materials for this particular section. Coz it always analytical or geometrical checks for solution. RSAgarwal has jus the theory-based questions.
1)      PNR calculation, find P. Data given were n separately and are separately
2)  a square with diagonal was given, and the data were measure of the side and the value of the diagonal. Question was to say if it is a square or not.
3)  A theoretical question to find if ravi is an engineer or not data were a) all   ram’s friends are engineers b) ravi is not ram’s friend.
4)  An equation was given and the constant was asked algebraically calculation. Both the data were required.

5)  This was again a theory .i forgot the question.. Sorry

The other possibilities are linear equations also

4) Data interpretation this section was really a mind blowing one. Consumes 15 mins at least, a stock market bar graph was given and 5 questions followed. Out of which 3 questions were based on the average calculation. Even the difference was with decimals so you need accurate calculation. But don’t waste time. Look for 2 direct questions and answer them first and calculate average and if have patience to do that do it else ignore the 3 questions.

It took more than 15 mins for me..
5) Now again comes the logical based critical, here u need to concentrate on all the topics given in puzzles and misallanous puzzles from RSAgarwal. Puzzles are not literally puzzles like shakunthala Devi or George summers they are like how its given in RSAgarwal verbal n non verbal

Five to six topics are there please don ignore any topic coz they ask from any of the six. They can be from committee formation, sequential problems (Monday thro Saturday and timings based) ,seating arrangement or Venn diagram based and what was asked for me was from blood relations. It was very simple but don ignore any section.

6) Logical sequence.

The options were more logical indeed unlike cats are humans, bats are balls.. Nothing like that it was very logical

For ex:

a)      All the detergents are chemicals

b)      All the detergents are harmful

c)      Brand x is a detergent

d)      Brand x is not harmful

e)      Brand x is harmful so if u understand the sense in it u can logically arrange it.

VERBAL COMPREHENSION:
There are 2 comprehension asked out of which one will be sequentially questioned,. Ur first question will have the answer in the first Para the second in the second like that the other comprehension will be ant sequential first questioned at the last so the tip I can give is.. read the questions have the questions behind the mind then start reading the Para and the second tip is never do comprehension first keep it for the last 10 mins.

One compre would take 7 mins and the other 3 mins. So plan accordingly


2)  Comprehension (anti sequential)

3)  Pick out the right sentence from the given 4 sentences.

The concentration is more into prepositions. So check for the words like, of, off, for, from ,by and all preposition word. Don keep reading the entire sentence coz the sentence is lengthy, trace out where the difference is made and check which would be apt one.

4)   fill in the blanks with suitable phrases, very very simple

eg: -------------------- lost my wallet I had to go back home to get the money

a)      as I had

b)      though I

c)      even when

d)      because

INTERVIEW EXPERIENCES:
Panel of two one male one female always Mark sheet verification is first done, u need to have photocopies of all Ur mark sheets (this was not intimated and few were running for photo copies)

Madam: Had your lunch

Sir:     so 2005 passed out?

Madam: Ur name sounds different what is the meaning

Sir:     so u r employed now?

Madam: what is that u enjoy in your job?

Sir:     have u ever felt this job bores?

Madam: how is Ur boss to u

Sir:     tell me about Ur job profile explain it

Madam: how many employees in your company

Madam: when was Ur Company established?

Madam: who is the C.E.O in your company

Sir:     why do u need a change from networking to software

Madam: do u mind relocating?
Sir:     marriage plans?

Sir  :   situation was given , customer x needs a lower end product but ur manager asks u to sell a higher end product , what will u do ( keep the key in mind customers first and I answered keeping that in mind)

Madam: so u sing ? ( my hobby said that ) and u cook ?? so how do u manage home , mom and office together ? ( since my mom was bed ridden she asked that )

Madam: have u organized any programs at college or office? Have u enjoyed that? I said with examples.

Sir:     a puzzle  at the four corners tress are there in between which a square shaped swimming pool was there of side measure 1 m ,. How will u expand the swimming pool 4 times more without removing the tress?

Sir :  have u ever been a decision maker in your job ?

Madam: has your boss accepted all your decisions?( I answered with example and said 6/7 is accepted)

Sir:     why was the one decision denied?

Madam: have u inrecated with all the employees at office?

Madam: any questions to us.. ( I jus asked about what kind of projects will be assigned and about the training place why is it always my sore )

While u r asked to work the puzzle they observe ur dressings, body language,, expressions.. so keep ur face cool and sit erect jus bending the head and don strike and scribble and work out put it as steps and show them jus the approach is what they want . Never lie never use any negative terms.

INFOSYS PAPER ON 11th JANUARY


LR section consists of 30 questions.

First five questions related to rank of the student in the class


Ques.-Rajesh rank 15 from the left and 16 from the right .how many student in the class.

a. 30 b. 31 c.32 d. none.

ans.30

These questions are very simple.


Next 6-10 question are related to the fig.

There are five fig into which one is empty. you have to find that fig from choice.

Next 5 questions pattern is that there are six statements are given. you have to find out the combination of three out of which suitable conclusion will obtained.

In the question no.21-25 some tabular data is given in the from of three column
	year
	News cost of issue
	Selling price
	No. of issue

	1991
	300
	264
	12

	1992
	420
	
	24

	1993
	
	
	36

	1994
	
	
	60

	1995
	1500
	
	72


(Effective cost=market prize+ postage charge-gift given)

in the question it is given that postage charge for one year rs.24per issue)

if you purchase magazine for two year gift is Rs.60 discount.

3 year=RS300 gift.

4 year RS600gift)

Actually I haven’t remember the whole data but pattern like this

THE QUESTIN LIKE THIS

Q-which year the effective cost/issue is minimum.

a. 1991, b.1992 c.1993 d.1995

Q-which year the increase in effective cost is minimum.

Section 2(English) Total question=40 Time: 30 min
The 1-5 question is related to one page passage.

Next 6-10 questions related to one page passage.

Next 10-15 question to fill the blank.(related to use of would,since,for,tences)

In 16-20 question there are 2-3 continues lines are written out of which one line is underline. you have to chose the option to fit in the sentences .find the grammatical mistake.

In 21-30 questions one paragraph type short passage is given you have to draw conclusion from it, you have to give the assumption behind passage, data inferred from passage.

INFOSYS PAPER ON 7th JANUARY AT CHENNAI

1. a cube prob 15 cm cut into 3cm and opp sides are painted with black, green and yellow.
i. how many cubes have three sides painted.
ans. 27

ii. How many cubes have two sides painted?
ans. 36

iii. How many cubes with one side painted?
ans.54
iv. How many cubes with no side painted?
Ans.8

v. How many cubes with different color sides painted.( question a ggogly)
ans .8


formula is no of cuts = n
no side = n-2 power 3
one side = n-2 power 2 muliply 6
two side = n-2 multiply 12
three side = 8 .

2. a non verbal reasoning prob diagram from r.s.agarwal pls go thro all the diagrams in that book . 5 marks is in your hand sure question.

3. Data sufficiency simple questions r.s.agarwal

4. Data interpretation
simple but length so no time to solve refer time cat material

5 .very simple relations question just draw the flow chart you will get the answer

6. Out of five or six statements select the statements in correct order

the best way to solve is read the options and eliminate the other choices very simple question English very easy but please go thro Barron’s its from there they same questions even the options r same after getting selected out of 855 121 were selected for hr round

1. How did u prepare for INFY test my marks were very high
2. What will u do if you are cm of your state.
3. What will u do to prevent people coming from villages to city
4. Two puzzles very simple 16 12 2 3  = 99 prove using any arithmetic logic simple but I didn’t ans
i had a brain drain 16 root 4 *12 =48 * 2 = 96 + 3 = 99 .

As soon as I came out i got the ans

abt infy whose CEO what was the major event in infy recently 25 years completion
INFOSYS INTERVIEW ON 20th JANUARY AT SECUNDERABAD

INTERVIEW EXPERIENCES:

Me: excuse me sir.

Intr: get in,. take ur seat.

Me:thank u sir

intr: give me ur resume n keep all ur stuff dwn except pen

me :gave my resume

intr :which college

me :my college name in full n  location

intr :gave me a paper in which few topics r given like 1.saddam hussain - a bluff master 2. politics 3.is marriage necessary n he asked me wats dat

me :topic on which am supposed to speak

intr :talk for a minute

me :spoke

intr :watz ur father

me :answered

intr :say abt the company in which ur father worked

me :told

int :take 6 matchj sticks n pose me a question

me :pardon me sir

intr :pose a question

me :posed

intr :u do dat

me :i did

intr :if u house is caught fire n u r left with 30 sec to run away from my home n wat is the important think dat u wld take with u dat is fit in 12x12 box

me :my documents sir

intr :y?

me :as am unemployeed i prefer dat

intr :anything else

me :money

intr :any attempts before

me :yes sir this is my fifth attempt

intr :let me know abt ur four attempts

me :told

intr :did u receive any call from infosys b4

me :yes day

intr :y didnt u attend

me :i told him d reson

int r:y shd infosys take me

me:told

intr:any thing gr8 dat ur college can proudly say abt u

me :nothing sir

intr ;think

me :told
INFOSYS PAPER ON 31st  JANUARY AT HYDERABAD

Hai friends there are TWO SECTIONS:
1)  LOGICAL REASONING 30 QUESTIONS   40 MINS
2) ENGLISH                          40  QUESTIONS  35 MINS

LOGICAL REASONING:

1) Puzzle on sequential order type

there are 7 buses p q r s m n o each bus leaves the station at a time they have 4 rounds for each bus… first bus starts at 8:30am next after 45mins..next after 30 mins next after 1hr and next after 35mins…n so on. from Monday to Friday.. on Saturday and Sunday they start at 7:30 each after 1hr time interval. N starts after m but before s . ois the last bus no bus after it. R struts before m but not before p..

so  question s on this data was asked.?
a) at what time do bus m start on Saturday?
b) AT what time o reach on Friday?

Around 5 questions were asked don this.

This sort of questions are found in R.S AGRAWAL VERBAL N NON VERBAL


2) DATA SUFFICENCY: -( 5 QUESTIONS)
You have to decide if the information given in the statements is sufficient for answering the problem. Indicate your answer as:
a) alone is sufficient to answer the question.
b) II alone  is sufficient to answer the question.
c) either I or II are sufficient to answer the question.
d) both are not sufficient to answer the question.
e) both are needed to answer the question.


a) Are a and b even no?

give a+b=even

a-b=odd
b)is x an integer?

Given  x^4 is an integer

And   x^3-1=0
3) DATA INTERPRETATION (5 QUESTIONS)

A bar graph was given and questions followed them

Its little time consuming and a bit tough also..practise R.S AGRAWAL DI question

4)SERIES QUESTION TO FILL THE SERIES (5 QUESTIONS)

RS Agarwal  very useful series type questions

5) LOGICAL PUZZLE (5 QUESTIONS)

5 STUDENTS A B C D E F  and condition give like a is heavier than b but taller then c, d is taller than b&c ….so we must find who is tallest ,heaviest…its very easy!

Similar to R.S AGRAWAL PUZZLE QUESTION..

6) LOGIC ARRANGMENT OF SENTENCES

Around 5 -6 statements give u have to find the best logic from the options

Like 5 statements given

1)      Breakfast is very essential for good health

2)      Breakfast must have good content of carbohydrates .

3)      Eggs are good in carbohydrates.

4)      Hydrocarbons are also required

5)      So egg not good for health

a) 123 b)324  c)451  d)325…so question like this can be solved by reading the statements and the eliminating the options..

ENGLISH

Its very easy … 2 passages but easy to solve.. Correction of sentence around 5-6  Fill in the blanks using proper tenses and prepositions type its also quite easy. Some statement given and asked to find the conclusion (4-5) Same type but asked give assumption from those statement..


INFOSYS PAPER ON 04th FEBRUARY AT DELHI

They were asking general hr questions from everyone. no technical ques. were asked from anyone yes, some people were asked puzzles.
mine was..

SIXTY
 + TEN
 + TEN
---------
  SIXTY

QUES: TELL ANY 2 OF THESE LETTERS

ANS: N:0
          E:5

INFOSYS PAPER ON 14th FEBRUARY AT BANGALORE

Hi Guys,

I do not remember all the questions that were asked in the Interview, but some are here; The new patter is as follows;

40 Minutes for Data Interpretation, Data Sufficiency, Aptitude, Logical, Odd man out, what is the next figure, Venn Diagrams, Verbal and Non-Verbal Reasoning.

18 Questions – 15 One mark + 3 Five marks (that is 3 questions with Five Sub-divisions).
All questions will have Four Choices and you will have to select one. No negative markings.
So totally 30 * 1 mark = 30 Marks. B. 35 Minutes for English – Correct the Sentences, Fill in the blanks, Reading comprehension etc.

32 questions – 30 One marks + 2 Five Marks (that is 2 questions with Five Sub-divisions).
All questions will have Four Choices and you will have to select one. No negative markings.
So totally 40 * 1 = 40 Marks.

A few of those questions are as follows;

1. What is the value of M+N?
A. (X+M)(X+N)=X^2+5X+MN
B. M+N>0

You will have to select from the following
A alone is enough
B alone is enough
A and B are require
A and B cannot give the answer.

2. Select the best logical answer;
A. Tata Sumo has long life
B. Tata Suma uses XXX spark plug
C. Old spark plugs are weaker
D. Some trucks are Tata Sumos
E. Some trucks are useless (Something like this)

Options, ABE, DEC, AEB etc
(best way to solve these problems are to draw a Ven Diagram yourself, if you don’t find it easy, take the options from the answers and select the best logical answer).

3. Select the best logical answer;

Some Cheethas are Gaints
Some Gains are weak
Not all gaints are week etc

Options, ABE, DEC, AEB etc ….

(best way to solve these problems are to draw a Ven Diagram yourself, if you don’t find it easy, take the options from the answers and select the best logical answer).

4. A tabular column was given with the Columns as Red, Yellow, Green and total. The Rows as Cube, Cuboids, Cones and Total. Some of the columns were unfilled. You will have to fill up the blank columns with the help of the data. Then answer the five subdivisions in them.

Questions were like, what is the ratio between Red Cubes and Yellow cones? If all Green cones were replaced by yellow cubes, what is the ratio between Yellow cubes and Red Cuboids? Etc.

5. A Diagram was given that looked more like a bluerpint of a house (with dimensions). Some dimensions were missing. The data given was; PQ = 3 and QR = 4. Find the value of PS?

PS = 3
PS > 0

Options

A alone is enough
B alone is enough
A and B are require
A and B cannot give the answer.

6. A question where the data is given like, Sunday or Wednesday the exam starts and it is Biology, there are nine papers and none takes place on a single day. One day is declared as holiday in between. Maths comes after Chemistry. Physics is two days after English etc……

Questions were; when did the exam start? When was the holiday? What is the paper after Geography etc???

7. Then some questions like Odd Man out, Some diagrams were given, and what is the next Diagram? Or Which Diagram does not fit in?

There were around Four to five questions like this.

8. Find X;

A. X^5=X^3

B. X>0

A alone is enough
B alone is enough
A and B are require
A and B cannot give the answer.

I am really sorry, I do not remember all the questions. But they were easy provided you are ready to think at that point of time. Please refer to
the other paper "Candidate Experiences – Bangalore – 14th Feb 2007" that I have submitted to get the complete details.

English was pretty easy, provided you have a good command over your Spoken language. If not, don’t hesitate to do some English tests with 
the help of Wren & Martin or some good English exercise book.

write some questions fronm d aptitude test on ur rough sheet...then u can solve it once ur english paper is over...it really helps...

After 2 hrs dey declared d results...out of 200 candidates 53 were selected for d interview.

4.INTERVIEW.
d interview aint any trouble at all.u just hav 2 b cool and slightly confident...believe me thats all it takes...enter d room walking straight...dont slouch..and sit only wen asked too....there was just 1 interviewer during my interview.

some of d questions were..

1.tell me something abt urself and ur family.
2.y do u wanna join infosys?
3strength and weakness..
4.what r ur hobbies?
5.do u surf d net?if yes...den wat do u surf?
6.r u ready 2 leave bombay?
7.some puzzles/...dont worry if u cant answer dem...they just see ur approach...and dont giv up instantly...try doin something....anything...just dont giv up 2 early..
8.10 uses of a stapler..
9do u wanna ask me any question?
the interview is generally around 20 min...and unless some real bad prob occurs during d interview ...ur sure 2 b selected...around 85% ppl are selected...so ur main priority shld b clearing d apti..

1. Don’t get tension while u r going for test. Make u’r self cool.

2. Thorough preparation  on series, coding & decoding, etc, English grammer.

3. Time Management.

4. Please be there before often hour –for the test

The test is  not in objective type, its totally fill in the blanks type questions . The main problem is  no guessings.

Its totally 35 questions – I can say its very easy to get through the test if u had minimum knowledge on all the topics,b’coz they covered all the topics .they have changed the pattern.

1-10 : SERIES  

Each  2M

Eg: 3, 4,7,8,11,__

11-13  CODING & DECODING


Each  2M

Eg: If BOY is 37 then FLASH is __

14-18 English


Each 2M

Eg: Polite : Rude: Vice : ____

Mutton : Butcher : Bread :___

19-25 : Some mathematical questions (the figures are not accurate ones) I am just trying to give an idea abt the questions.
Each 5M

1.      If  ‘x’ men complete the work in 10 days , and 6 were not present and they complete the work in 18 days. Totally how many r there? Some thing like this.?

2.      Whats the sum of first 30 no’s? (Exact question)

3.      The question is Like ---- 53 Tuesdays in anon-leap year. (On probability)

4.      8 men  -----  5 dig holes --- 10 days

?          ------ 7 dig holes --- 8 days  . Find out the men count. (Figures are not accurate. Plz don’t try for the answers.)

5.      Fathers age is 4times of his son. ------------------------------ what was their ages.?

6.      X ltr is there, 1/3 is evaporates, ¾ is --------. Exactly how many ltr are there.

26-31 : Arranging the sentences in aproper way.


Each 2M

1.      Is to err to divine human forgive. (Sorry I didn’t remember all the questions.)

       If you r good at English you can easily score in this section.
32-33   Coding & Decoding:

34-35   Mathematical questions.

INFOSYS PAPER ON 20th FEBRUARY AT SECUNDRABAD

Two interviewers were in the panel 1male and 1 female...
i went into the room n wished them..they asked me to take my seat nd then my resume..plz be thorough wid wat u wrote in ur resume..
here are few questions i came across in the interview..they may be useful to u...

1)INT:wat did u do for all these 10 months frm the day of passing out?(iam a 2006 pass out}
2)INT:being frm a nonIT bacground how do u think u can suit for infosys? talk abt logical skills u have etc..,
3)INT:tell me about ur project?
4) He gave me 1 topic n asked to talk abt it 4 1 min.?i am given 30 secs to think onit. The topic was `Challenges being faced by India`
 here they are trying to check ur communication skills.
5) He gave me 6 matchsticks and asked me to make 6 equilateral triangles. we need to make it in the shape of STAR here they are going to check ur nervousness.Although i dint solve it iam not nervous   tats wat matters so be careful
6)INT:Tell me something abt infosys? so gather some info abt infy and it will be helpful like whos the chairman,MD,total employees in infy, NASDAQ aspect etc.,
7)he gave me a situation which is as follows: Ur car got stuck on a railway line and thers no one around u...and the train will come in 5 mins wat would u do?
i said tat i will try till the 4th min to push my car off the track and if it is not possible i will take the imp. documents i the car and
move off.
here they are trying to check ur thinking ability...there`s no single answer 4 this question.

Last but not the least be sure wid wat u wrote in ur resume and b confident..
!!

INFOSYS PAPER ON 27th FEBRUARY AT CHENNAI

LOGICAL REASONING

I. There are 6 operations performed to manufacture a computer chip. a,b,c,d,e and f
conditions given
1 only a,b and d are the first opration to be performed
2. operation f is performed immediately after a
3. operation c is performed after f
4. operation e is performed immediately after c

Questions
1 If operation a is performed at the third postion then how many combinations are possible
2. if operation b is performed first then how many combinations are possible
3. if c and e operations are replaced by a single operation g then the total no of possibilities are reduced or increased compared to the previous possibilities
4 if operation a is performed first then how many possible combinations are possible
5 if operationm a costs 1, b costs 2, c costs 3 and so on.. then wat will be the manufacturing cost of 81 chips
for the above questions 4 choices were given

II 5 questions to find the missing diagram in series.
four options were given

III Pie chart diagram and 5 questions with four options

IV Blood relations
A is a farmer and he has two sons and a daughter
D is a unmarried daughter
E is a lawyer and brother of C
B is a teacher and wife of C

Questions
1. How many unmarried persons are there in family
2. Who is the married family
3. whose occupation is not known
4. how many womens are there in the family
5. who are the sons of a

V Data sufficiency as in rs agarwal or other cat books
VI they will give two statements like
   a. Some cats are dogs
   b. Some dogs are horses
an d then they will give two statements like
 A.Some horses are dogs
 B.all cats are horses

and u have to say whether
I) A is correct
II)B is correct
III) Both A and B are correct
IV) None of them are correct
INFOSYS PAPER ON 1st MARCH AT BHUBANESWAR .

The criteria was any two 60% and one 65%. ( generally it is 10th and B-tech 65% and 12th 60%)

Important Tips:-

1. Start from easy questions and then proceed towards the difficult ones.

2. Make a mindset that the questions which are difficult for you, will be difficult for others too.. But the question which is easy for you may not b easy for others.

The written exam was divided into two sections:

1) Aptitude (30 ques 40 min)

2) English (40 ques 30 min)

we were firstly asked to fill up a simple form.. ( do not forget to carry a passport sized photo with you)..  the aptitude paper was given first…then the English Paper…

APTITUDE 
The paper was not tough but needs practice and proper time management…for aptitude section follow R.S. Aggarwal “Verbal and non Verbal reasoning”...

Chapters to be followed:- 
Section 1

1.       Series completion

2.       Blood Relations

3.       Puzzle Test

4.       Number, Ranking & Time Sequence Test

5.       Data Sufficiency

Section 2

1.       Logic ( This is also known as Syllogism)- Very Important

Section 3

1.       Series

2.       Cubes and Dice.

Some of the ques I remember are-

Ques (1-5) – Ranking

The questions were very easy.

1. Ram is 10th from front and Shyam is 10th from back. if both interchange their positions then Ram is 27th from front, then Shyam’s position from back is 
(1) 25           (2) 26       (3)   27      (4) 28

2. Hari stands 10th in the class and mohan stands 17th  from back and there are 4 students in between them then the total strength of the class is…..

Ques (6-10)- Next figure i.e. the 6th figure in the series..

Here five figures were given and we had to find out the next figure in the series from the five figures given as options. These were easy too..

Ques (11-15)- Data sufficiency problems 
Ques (16-20)- Graph

Here one graph on Solubility Vs temperature for 6 different compounds like calcium sulphate, calcium chloride, etc.. was given.. 5 ques followed it… this was little tough as there were 6 different lines in a small graph ..

Questions were like- which has the highest solubility… (1) calcium chloride at 29deg  (2)calcium sulphate at 15deg  (3)sodium chloride at 22deg  (4)potassium chloride at 20deg.

Ques (21-25)- Puzzle Test

I don’t remember the whole ques ..it was something like-

There are six persons A,B,C,D,E,F…each person wore a cap and a tie. No person wore same colored cap and tie..caps colour were red,black,brown,yellow,green,white. Tie colors were red,blue,yellow,brown,orange,green… E wore cap as the colour of the F’s tie. C wore cap as the colour of the D’s tie……….

Five questions followed it…

Ques (26-30)- Syllogism

These were really tough…follow the nine rules given in R.S. Aggarwal or follow the rules tought by ur PPT teacher…For Bhubaneswar students follow Nanda Sir’s notes…

ENGLISH 
The English section was a tough one…for this prepare from Baron’s guide or revise your basics from Wren and Martin…look for the section in the paper which is easy for you and attempt
1. 2 long passages followed by 5 ques each…these passages were very tough…one advice- read the passage once then from the questions try to find out the answers from the passage…this might help you in completing ques (1-10) much faster.. don’t give too much time reading the passage.. 
2. ques (11-17)- choose the correct sentence out of the four …
3. ques on fill in the blanks with the correct word or phrase 
4. choose the best suited words or phrases for the underlined words

By 1 p.m the written exam was over …the results were out by 3p.m. the cut off was around 13 each in Aptitude as well as English section……within 10 min the HR Interview started…

HR INTERVIEW 
The most important thing to crack the interview is that you have to be well prepared about what is there in your CV…Confidence counts a lot…keep smiling but don’t show your teeth…if you don’t know the answer say politely that you don’t know the answer do not bluff.. the HR will catch you… a person with the above qualities and a good communication skill (in English) can crack the HR interview easily..

The interview was for around 18-20 min…the HR person was very friendly…his questions followed from what I spoke…my questions were-

1.  tell me about yourself…

2.   where do your parents live?

3.  how come you have done schooling from Jamshedpur rather than your native place?

4.  you must be leaving in the hostel?

5.  you from which branch?

6. do you have exposure to computers?(while answering this ques I spoke about my summer course i.e. Network Management in “Linux” environment….so the next questions were from this)

7.  what was the course all about?

8.  what is a switch?

9.  what is routing?

10. name a company which produces switches..(I didn’t knew the answer so I said “I don’t know the answer)

11. then he asked don’t you watch KBC…I replied – “Sir, for the last 3yrs I don’t have access to the television as I stay in the mess..

12. what is Oracle?

13. do you have any interest in sports?(my answer was cricket)

14. are you there in the college team?

15. have you played cricket for your college?

16. then he gave me a Maths ques.- there are X no of students in the class..you have Rs6500..you distributed 6500 among all the students..if 15 more students are included and the same amount is distributed among all then the new share for each gets reduced by Rs30 than the previous one..can u find out the actual no of students(X)? Here he wanted to see that whether I was ready to accept new problems and how I proceed…never say no to these questions.. always give it a try.try until he/she stops you.. then explain him/her what you have done..i gave him the answer and explained what I had done..

17. again he asked me question on cricket- What is China man? – I didn’t knew the answer so replied- “Sorry sir I don’t know the answer

Some other ques which were asked to my friends were like-

1.       what is the meaning of your name?

2.       who invented zero?- Aryabhata

3.       what is the loss in a line? – I^2R loss

4.       why should I hire you?

5.       why Infosys?

6.       tell me about your strengths?

7.       give an example where you have worked as a team.

INFOSYS PAPER ON 27th FEBRUARY AT CHENNAI

APTITUDE:(30 Q 40 Minutes):

I. Puzzle type(As in R.S. AGARWAAL)

To manufacture a computer chip 6 operations r required(A,B,C,D,E,F),

Ø      Let B or A or D operations occur first

Ø      Operation C is performed after E

Ø      F comes after A

Ø      E is not performed immediately after F

1. If Operation B occurs first then what is the state of A (Ans is either i) or ii) 
i) 2nd stage  ii) 3rd stage  iii) either  I  and ii  iv) None

2. If a single operation costs Rs.21 then what is the total cost for manufacturing 80 chips…

Similar type of questions.. By specifying the state of any operations and asking to find the other operation states…..

II. BLOOD RELATION:

In a family there r five members A,B,C,D,E. and their professions r farmer, doctor, lawyer, trader, nurse.

A)    B (nurse) is the daughter of A, who is a farmer.

B)     C(lawyer) is the brother of E, who is a only married couple in the family.

C)    A has two sons and 1 daughter

D)    The daughter in law of A is a doctor.

Q.6. Among these which one forms the  male group…   (Ans. A,C,E)

Q.7. Female groups…(Ans. B,D)

Q.8. Who is the trader in the family(Ans. E)

Q.9. Who is the doctor in the family(Ans. D)

Q.10. The married couple (Ans. ED)

V  can get the soln. by forming a flowchart……….

A(farmer) his son and daughter

______________|_________________________________

|                                               |                                               |

B(Nurse,daughter)         C(lawyer,son-1)              E(son, married,son-2,trader)

|

D(doctor, wife of E)

III. PICTURE PROBLEMS:

The format is select the missing picture from the four choices…….

IV. PIE CHART :

Two charts are given… (Follow Data Interpretation in Quantitative Aptitude in R.S. AGARWAAL)

Very easy one….

V. SYLLOGISM:

Only 2 conclusions were given..

V have to identify the correct solution from the 2 given premises.. I got No conclusion for 4 statements..

Learn all the 9 logical rules from R.S.Agarwaal

VI. DATA SUFFICIENCY….

Sorry Friends…..   I don’t remember the last 5 questions…….

ENGLISH(40 Q-35 Minutes)

1.      2 Comprehensions: (Very Easy one)(Q. 1 to 10)

2.      Underlined statements has to be replaced by an appropriate line (Given 4 choices)(Q. 11 to 18)

3.      Find the right option from the choice given below.(Q. 19 to 25)

4.      Select the correct statements.(Q. 26 to 31)

5.      small paragraphs (Each consists of 1 Q)(Q.32-40)

After 3 hrs the selected list was announced.. Totally 52 selected from our college and I was one among them..  Immediately they called for HR INTERVIEW…. I was too nervous, since this is my first interview… my HR was a lady and she talked very nicely.. the Interview was of general, She gave some situation and asked how I will tackle that solution…  My HR interview is for just 10 minutes……..

After being waited for more than 4hrs I am there in 43 finalists. Atlast I have placed in Infosys…  My friends of other panels faced Qs on puzzles …. Really I am very happy now because from now I am one among Infosys . Friends please be confident and keep belief on  Urself definitely u can be placed in Infosys.

INFOSYS PAPER ON 1st MARCH AT GHAZIABAD

INFOSYS pattern:

1) Reasoning Ability (30 questions ,40 minutes)
           English Aptitude   (40 questions,35 minutes)

2) HR round

They eliminated most of us in written so I would suggest you to prepare well for it..

Only 66 of us got selected for written out of  250..

The most important thing is TIME MANAGEMENT….

I don’t remember the questions well.. but what all I can recollect is here..

1)   PUZZLE

A DI ques has to pass through three stages A,B,C.. there are 4 men to check at stage A, 10 men at stage B and 4 men at stage C.. each man works for 10 hrs a day..  A DI ques takes 1 hr at Stage A,2 hrs at Stage B and 1 hr  at Stage C and an apti ques takes 45 mins at Stage A,2hrs at stage B and 1 hr at Stage C.
There were 5 ques based on the data provided..   like…

At most how many DI ques could be solved in a day..

If 3 more men get involved in stage A then at most how many ques can be solved in a day..

They were pretty easy..

2)  LOGIC

5 ques were there to find the odd one among the 5 pictures given for each..

they were a little tricky..

You can find these type of  ques in VERBAL AND NON VERBAL REASONING, R.S   Aggarwal

3)  DATA SUFFICENCY(5 ques)

one of then which I remember is:

find the angle ADC in cyclic quadrilateral ABCD

1.      angle BCD + angle ADC = 77

2.      angle BAD= 55

Remember you don’t have to solve the ques but to find out whether

a) 1 alone is sufficient to answer the question.
     b) 2 alone  is sufficient to answer the question.
     c) either of 1 or 2 is sufficient to answer the question.
     d) both are insufficient to answer the question.
     e) both are required to answer the question.

Ans to above is e

4)  DATA INTERPRETATION

A table of  imports from diff countries to India was given and 5 ques were based on    it.. there  were very lengthy calculations and I would suggest to apply hit and trial here otherwise you’ll end up wasting most of your time.
Practice DI ques from  QUANTITATIVE APTITUTE by R.S aggarwal

5)  A PUZZLE again

It was like there were six people A,B,C,D,E sitting in 2 rows..

B and C can not sit in corner and other relevant data and then 5 ques based on it..

It was very easy..

Practice the puzzles from VERBAL AND NON VERBAL REASONING, R.S            Aggarwal

6)  SYLLOGISM

This is again there in VERBAL AND NON VERBAL REASONING, R.S   Aggarwal

I would sugguest you to go through examples of

Blood relations
  Puzzle test
  Logical Venn Diagrams 
  Ranking and time sequence Test
  Data Sufficiency
  Logic (Just  learn those 9 rules)
  Series
Cubes ( go through the ques like a painted cube was cut and then you have to find the no. of  find 1 side painted cubes… and so on..) 
 from VERBAL AND NON VERBAL REASONING, R.S Aggarwal.. n do about 10 examples from each chapter.. n if can arrange for any CAT material then plz do that… it really helps.. the paper is usually lengthy so go for easier first like puzzles, DS and SYLLOGISM.. DI can be tough so do it at end..

At the end of the day its all luck.. so give your best but be prepared for the worst..


The English paper had

1)      2 Reading Comprehensions.. DO them at the end.. they are quite lengthy..

and if you don’t get enough time to read them then try to make out answers by going through glimpse  of the  comprehensions

2) Argument-Conclusion type.

3)  Sentence Correction.

4)  Choosing grammatically correct sentences.

English is easy if you are go at spoken English.. you can not learn English in few days but i would suggest you to go through IMS material on              English.. it’s good..

My HR was really cool..

In HR they judge your analytical ability.. They check for how you handle stress.. your confidence, communicational skills,

presence of mind, overall personality..

me: GOOD AFTERNOON ma’am..

intr: GOOD AFTERNOON.. Have your seat..

me: thank you ma’am…

(then she asked me to sign a paper)

intr: tell me abut your background , your achievements, your education…

me: told (be cool.. don’t get nervous.. they will make it out.. be natural when you answer even if you have prepared the answer  before.. relate your strengths with their requirements.. )

intr: tell me about your family background

me: told ( tell how you have learned from your parents.. they don’t want to know whether your dad is a doctor or an IAS.. they want to know more of  you, so don’t boost about your family but tell them what you learned from their experiences)

intr: what sacrifice your parents have made for you..

me: told..

intr: then she asked me to make 8 equilateral triangles from 12 matchsticks..

me: (they don’t want your answer, they want to judge you presence of mind and how you handle stress.. jst keep trying until she/he asks you to stop)

intr: tell me about your close friends..

me: told..

intr: how do you update yourself..

me: I’m not that good newspaper reader but I do keep record of what is happening around me through internet and television.. ( Don’t lie, if you don’t read newspaper it’s perfectly fine.. )

intr: If fire catches your house and you have a 20*20 box, what will you take in it..

me: I’ll take my certificates and some money in it..

intr: where do you keep all your certificates..

me: told..

intr: if your two close friends utter all bad about you to your project head and you came to know about it from a very reliable source then how will you react..

me: told ( see, they do check how you handle situations… don’t mix up professional life with your personal life.)

intr: okay.. BEST OF LUCK..

me: thank you ma’am.. It was nice meeting you…

Important is to be confident, calm, and to impress the panel...

You should know about the capital of all states in India and major countries.. go through headlines (Budget, elections(newly elected chief ministers..), IT sector.. TATA-chorus) they can ask you to mention 25 news.. You should be well aware of names of all ministers..

All questions are from your CV so be through with it.. always back up your strengths and weaknesses with examples..

